_—‘\\52}}.{.0 v o__

=

_— e,

IO 790‘-“09 ) 7/

gy —t

1

b“l—l

L )

3" —

tJ

) 1
Y o
) i
N
—— ,
LBl B al
/51’_(;\ _ | R
\ S ol 3
\ B 1
: o A
® B 1
W
. P L
(/ © :
E LD
NI - Sl e
1 N
N
o
N
R
b
tf
{ — L — !
f—————y . —T — iy AT e Rt | el e Lo e —= - chosl PR RS - —

L T T e e o A T W



\G ' <01

SR
J‘-S—'L{_‘l . 30{_'0.; ) 32[__0”_____ ’

Z7I

lr; . L — | . ' =
| g0ttt 51
Por-ch b Bl
v =.
€
T: ‘ . 1 Bf"
7 Flock i et N— =T ,
S
’ /
e |
@gfiﬂé‘iw@}y:\
o:‘?;’ Recej /E‘\ G\?‘I;l‘
G/QM &-‘JOQC/ kr\xfj C@MS/(LQ e H‘LE:Z):H -

<M liar = g
! dl?l" "
nHee

._.“74’/“*--. <
S Erraanels
S EXAINNG

1O R O




L UL B

[ gl,'/[ Oﬁg\ 90 Zo » 30,,}(0 5@‘#” 3 ,

Jsg i

_Hié /f . | ﬁ‘:&k j‘-—/d”

L [ kew —ih o e

( T N i B W75t i e — e “\.,.\_H‘E-_-_—:"‘-“*- 2_ I CO /f-( it I
J / B ot /
/éoluw\ @Tad /GM\Cd|u/N"‘ [mron 71’ .
} Z c? L o rt '
|

70% 30'-{b 301'{{’

—t—

e e

o ]
ggopvﬂ

Code

=N
E‘I JL__

Q —
[4




REVISIONS

ANCHOR TABLE

OBTAIN UPLIFT REQUIREMENTS FROM TRUSS
MANUFACTURER'S ENGINEERING

UPLIFT LBS. SYP | UPLIFT LBS. SPF TRUSS CONNECTOR* TOPLATES | TO RAFTER/ITRUSS TO STUDS

GENERAL NOTES: < 420 < 245 HEA 3-8d 3-8d
PITANRTE ST W et TUITTIC oA sl s Sessmenty -
< 455 < 265 H5 4-8d 4-8d
SITE PREPARATION: SITE ANALYSIS AND PREPARATION IS NOT PART OF THIS PLAN < 360 < 235 H4 4-8d 4-8d = Sd: I Pb (I‘
= - = ARCHITECTURAIDE SIGN SOF TWARE
2x8 RIDGE BOARD FOUNDATION: CONFIRM THAT THE FOUNDATION DESIGN & SITE CONDITIONS MEET < 455 < 320 H3 4-8d 4-8d
w/ CS20 (10-10d) GRAVITY LOAD REQUIREMENTS (ASSUME 1000 PSF BEARING CAPACITY UNLESS = = —
FRAME ARCHED CEILING RIDGE TENSION STRAP VISUAL OBSERVATION OR SOILS TEST PROVES OTHERWISE il o e e 540
w/ 3/4" SHEATHING @ GABLE END < 600 < 535 HZ 5A 5-8d 5-Bd
AND 2x4 BLOCKING CONCRETE: MINIMUM COMPRESSIVE STRENGTH OF CONCRETE AT 28 DAYS, F'c = 3000 PSI. = — —
7/16" OSB ROOF SHEATHING UNBLOCKED < 950 < 820 H& 8-8d 8-Bd
NAILED TO ROOF FRAMING 8d COMMON NAIk | 5 WELDED WIRE REINFORCED SLAB: 6" x 6" W1.4 x W1.4, FB = 85KS], WELDED WIRE REINFORCEMENT FABRIC < 745 < 565 e TR rETTEET =
6" 0.C. EDGES. 12" O.C. FIELD. 4" O.C. GABLE (W.W.M.) CONFORMING TO ASTM A185; LOCATED IN MIDDLE OF THE SLAB; SUPPORTED WITH APPROVED
L. ' e ' el ES MATERIALS OR SUPPORTS AT SPACINGS NOT TO EXCEED 3", < 1465 < 1050 H14-1 13-8d 12-8d, 11/2*
" " FIBER CONCRETE SLAB: CONCRETE SLABS ON GROUND CONTAINING SYNTHETIC FIBER REINFORCEMENT. < 1465 < 1050 H14-2 15-8d 12-8d, 11/2" o
2x6 SYP#2 RAFTERS @ 24" OC 2x6 SYP#2 RAFTERS @ 24" OC FIBER LENGTH 1/2 INCH TO 2 INCHES. DOSAGE AMOUNTS FROM 0.75 TO 1.5 POUNDS PER CUBIC YARD i s oA S0 112 SR o
w/ H2.5 TO PORCH BEAM w/ H2.5 TO PORCH BEAM PER THE MANUFACTURER'S RECOMMENDATIONS. FIBERS TO COMPLY WITH ASTM C 1116. SUPPLIER ' :
TO PROVIDE ASTM C 1116 CERTIFICATION OF COMPLIANCE WHEN REQUESTED BY BUILDING OFFICIAL. < 760 < 655 H10-2 6-10d 6-10d
et AR I RE SPECIFIED, SAWN CONTROL JOINTS IN SLAB-ON-GRADE SHALL BE CUT IN —— . i e ) el BN
5 " CONTROL JOINTS: WHERE S ; - " g " 2 " e
w/ (10) .131"x 3 1’:DNAILS ACCORDANCE WITH ACI 302. JOINTS SHALL BE CUT WITHIN 12 HOURS OF SLAB PLACEMENT. THE LENGTH / iR bl i Hig2 10-10d, 11/ 2-10d, 11/2
AT EACHE WIDTH RATIOS OF SLAB AREAS SHALL NOT EXCEED 1.5 AND TYPICAL SPACING OF CUTS TO BE 12FT. DO NOT < 1000 < 860 MTS24C a1 71081 12
(DO NOT SPLIT WOOD) CUT WWNM OR REINFORCING STEEL. (RECOMMENDED LOCATION OF CONTROL JOINTS IS SUBJECT TO
OWNER AND CONTRACTOR'S APPROVAL. THE CONTROL JOINTS ARE NOT INTENDED TO PREVENT CRACKS < 1450 < 1245 HTS24 12-10d 1 1/2* 12-10d 1 1/2"
BUT RATHER TO ENCOURAGE THE SLAB TO CRACK ON A GIVEN LINE.) e \eiTn T
6S PORCH HEADER : =
@ 2); nggﬁ‘i 10d TO POST REBAR: ASTM A 615, GRADE 60, DEFORMED BARS, FY = 60 KSI. ALL LAP SPLICES 48 * DB (30" FOR #5 BARS); < 2050 < 1785 LGTZ 14 164 14 -16d
o U I»EET T0 EXISTING UNO. ALL REINFORCEMENT SHALL BE DETAILED AND PLACED IN ACCORDANGCE WITH ACI 315-96, U.N.O, BN
LUS26-2 BUC HEAVY GIRDER TIEDOWNS* TO FOUNDATION

ROOF SHEATHING: ALL ROOFS ARE HORIZONTAL DIAPHRAGMS; 7/16" OSB SHEATHING, UNBLOCKED,
APPLIED PERPENDICULAR TO FRAMING, OVER A MINIMUM OF 3 FRAMING MEMBERS, WITH PANEL EDGES

1-5/8" THREADED ROD |

STAGGERED, FASTENED WITH 8d COMMON NAILS (.131), 6"0C PANEL EDGES, 12"0C INTERMEDIATE < a864 < 3330 MGT 22-10d 12" EMBEDMENT
MEMBERS, GABLE ENDS AND DIAPHRAGM BOUNDARY; 4"0C, UNO. . i _
STRUCTURAL CONNECTORS:  MANUFACTURERS AND PRODUCT NUMBER FOR CONNECTORS, ANCHORS, < 10880 < 6485 HGT-2 16 -10d zsﬁn?ﬁ?g‘?g%élmﬁm
AND REINFORCEMENT ARE LISTED FOR EXAMPLE NOT ENDORSEMENT. AN EQUIVALENT DEVICE OF THE

1
i
1
1
1
i
1
i
I
|
|
] 4x4 SYP#2 PORCH POST
[}
) /

SAME OR OTHER MANUFACTURER CAN BE SUBSTITUTED FOR ANY DEVICES LISTED IN THE EXAMPLE 2.5/8" THREADED RQD |

< 10530

A

TABLES AS LONG AS IT MEETS THE REQUIRED LOAD CAPACITIES. MANUFACTURER'S INSTALLATION 9035 HGT-3 16 -10d 12" EMBEDMENT

INSTRUCTIONS MUST BE FOLLOWED TO ACHIEVE RATED LOADS.

< 9250 2-5/8" THREADED ROD

A

9250 HGT-4 16 -10d

o o i ] i e . e s s s e e . S s s . e g el

gy |
]
I 1
| 1
' i
|
| | ANCHOR BOLTS:  A-307 ANCHOR BOLTS WITH MINIMUM EMBEDMENT AS SPECIFIED IN DRAWINGS BUT NO 12" EMBEDMENT
: : LESS THAN 7" IN CONCRETE OR REINFORCED BOND BEAM OR 15" IN GROUTED CMU STUD STRAP CONNECTOR" 10 STUDS
: : WASHERS: WASHERS USED WITH 1/2" BOLTS TO BE 2" x 2" x 9/64"; WITH 5/8" BOLTS TO BE 3" x 3" x 9/64"; WITH < 435 < 435 SSP DOUBLE TOP PLATE 3-10d 4 -10d
! ! 34" BOLTS TO BE 3" x 3" x 9/64", WITH 7/8" BOLTS TO BE 3" x 3" x 5/16"; UNO. S
I : < 455 < 420 S5P SINGLE SILL PLATE 1-10d 4 -10d
: | NAILS: ALL NAILS ARE COMMON NAILS UNLESS OTHERWISE SPECIFIED OR ACCEPTED BY FBC TEST S|
; : REPORTS AS HAVING EQUAL STRUCTURAL VALUES. < 825 < 825 DSP DOUBLE TOP PLATE 6 -10d 8-10d
: : < B25 < GO0 DSP SINGLE SILL PLATE 2-10d il 8 -10d
: : < 885 < 760 SP4 " 6-10d, 1 112"
: : < 1240 < 1065 SPH4 10-10d, 1 1/2"
I —~ABU44 POST BASE ABU44 POST BASE —! - - : = : "
tow/1/2" x 10" w/ 1/2" x 1{]"X < B8 < 760 SPh 6-10d, 1 1/2
| ANCHOR BOLT ANCHOR BOLT | < 1240 < 1065 SPHB TR
g} - - & < 1235 < 1165 LSTA18 14-10d
2 ri E =
) Ev\/ j & BUILDER'S RESPONSIBILITY < 1235 < 1235 LSTAZ1 16-10d o
N ~—12" x 12" MONO FOOTER y o™ < 1030 < 1030 ©s20 18-8d
w/ #5 REBAR CONT. 12" x 12" MONO FOOTER 1~ ) THE BUILDER AND OWNER ARE RESPONSIBLE FOR THE FOLLOWING, WHICH ARE < 1705 < 1705 Cs16 28-8d ]
’ i CONFIRM SITE CONDITIONS, FOUNDATION BEARING CAPACITY, GRADE AND < 1350 < 1305 LTT18 8-16d 112" AB
4" CONCRETE FLOOR SLAB REINFORCED BACKFILL HEIGHT, WIND SPEED AND DEBRIS ZONE, AND FLOOD ZONE. T o T P =
WITH 6X6-1.4/1.4 WELDED WIRE MESH PROVIDE MATERIALS AND CONSTRUCTION TECHNIQUES, WHICH COMPLY WITH FBCR 2004 — —r - —
PLACED ON CHAIRS AT 1 1/2" DEPTH OR REQUIREMENTS FOR THE STATED WIND VELOCITY AND DESIGN PRESSURES. . i HOZA 2-5/8"BOLTS Seas
FIBER gigg|Egh\}\ﬁ$51£'£yg5;a&gﬁgﬁ PROVIDE A CONTINUOUS LOAD PATH FROM TRUSSES TO FOUNDATION. IF YOU St i LliLs) i i e
BELIEVE THE PLAN OMITS A CONTINUOUS LOAD PATH CONNECTION, CALL < 1400 < 1400 PAHD42 16-16d
POLY TAPE OVER TERMITE-TREATED THE WIND LOAD ENGINEER IMMEDIATELY.
AND COMPACTED FILL < 3335 < 3335 HPAHD22 16-16d
VERIFY THE TRUSS MANUFACTURER'S SEALED ENGINEERING INCLUDES TRUSS — =
DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS, <2000 <. 20 iy 12-16d 1/2* AB
TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR ALL < 2300 < 2300 ABUGE ey nE TYT
CTION BEARING LOCATIONS. . —
TYPICAL SE 1 ] < 2320 2320 ABUSS 18 - 16d 258 WINDLOAD ENGINER:
SCALE: 1/2" = 1-0" . Mark Disosway, PE
MNo.53915, POB 868, Lake City, FL 320586,
386-754-5419
DIMENSIONS:
Stated dimensions supreede scaled
dimensions. Refer all uestions to
Mark Disosway, P.E. fr resolutian.
Do not proceed withow clarification
COPYRIGHTS AND ROPERTY RIGHTS:
Mark Disn_s;way. P.E. kereby expressly
GRADE & SPECIES TABLE GeR Tty bt iy s eimetts of a3
DES'GN DATA s This document is not b be reproduced, aiteréd
' e e ar copled in any form ¢ manner without first
: ] R . B the express wrillen pemission and consent
(2) 2x6 SYP#2 PORCH HEADER Fb (psi) | E (10° ps : is0s
| wl CS20 14-10d TO POST (pep) | B (10" ps) WIND LOADS PER FLORIDA BUILDING CODE 2004, SECTION 1609 (g
! LUS26-2 BUCKET TO EXISTING 28 SYP #2 1200 | 16 (ENCLOSED SIMPLE DIAPHRAGM BUILDINGS WITH FLAT, HIPPED, OR GABLE ROOFS, | S G s AT ok A
T F— / MEAN ROOF HEIGHT NOT EXCEEDING LEAST HORIZONTAL DIMENSION OR 60 FT: NOT portions of the plan, reating ta
2x10 SYP #2 1050 1.6 ON UPPER HALF OF HILL OR ESCARPMENT 60FT IN EXP. B, 30FT IN EXP. C AND >10% wind engineering comjy with section
4x4 SYP#2 PORCH POST RI= 4x4 SYP#2 PORCH POST i o= s w SLOPE AND UNOBSTRUCTED UPWIND FOR 50x HEIGHT OR 1 MILE WHICHEVER IS LESS ) L Rk el
rd KY L | i R 5 . — S 1
(W}~ w/ABU44 POST BASE B M e (M el s BUILDING IS NOT IN THE HIGH VELOCITY HURRICANE ZONE to the best of my knowsdge
————————— " 1/2" x 10" ANCHOR BOLT X GLB 24F-V3 SP 2400 1.8 = i RIS
! g BUILDING IS NOT IN THE WIND-BORNE DEBRIS REGION g L THOR e deegit = vl coxones
| T - o 2%x6 SYP#2 RAFTERS @ 24600 R building, at specified lcation.
4" CONCRETE FLOOR SLAB REINFORCED 1 L w! H2.5 TO PORCH BEAM LSL | TIMBERSTRAND | 1700 1.7 1.) BASIC WIND SPEED = 110 MPH
/_E_ WITH 6X6-1.4/1.4 WELDED WIRE MESH MARK DEOSWAY
| PLACED ON CHAIRS AT 1 1/2" DEPTH OR %8 RIDGE BOARD LVL | MICROLAM 2900 2.0 2.) WIND EXPOSURE =B PE. 3915 o
EXISTING . FIRER MESH CONCRETE, 6-MIL POLY VAPOR " wiCS20 (10-10d) 3.) WIND IMPORTANCE FACTOR = 1.0 =N
BUILDING : BARRIER WITH 6" LAPS SEALED WITH 1l | p RIDGE TENSION STRAP PSL |  PARALAM 2900 2.0 ) . iy
: POLY TAPE OVER TERMITE-TREATED 4.) BUILDING CATEGORY = ||
i AND COMPACTED FILL 1= — 2x4 RAFTER TIE — |
| WHSREBARCONT. | . (DONOT SPLIT WoOD) Bl T e
1 Wi ;
: o 7.) INTERNAL PRESSURE COEFFICIENT = N/A (ENCLOSED BUILDING)
] - "
_______ ! 4x4 SYP#2 PORCH POST = 2x6 SYP#2 RAFTERS @ 24" OC 8.) COMPONENTS AND CLADDING DESIGN WIND PRESSURES (TABLE R301.2(2))
- ) i‘|/— wl ABU44 POST BASE H-- = w/ H2.5 TO PORCH BEAM =
g " " "'-":::::::IJI_
= e 1 CHORBaLT I 4x4 SYP#2 PORCH POST Zone |Effective Wind Area (ft2) -
w/ ABU44 POST BASE 10 100 Glenwod King
i ety = \ 1/2" x 10" ANCHOR BOLT B i = .
| \ 21 1‘:2 ;;: e ;f; Constuction
: (2) 2x6 SYP#2 PORCH HEADER e (e e A (T
| w/ CS20 14-10d TO POST g = - =
FOUNDATION PLAN LUS26-2 BUCKET TO EXISTING 3h 19.9 [ 2555 [18.1 |-21.8 MecTluffie

SCALE: 1/4" = 10" T s ey S R Porch addition

] 21.8 [-29.1 |18.5 |-22.6

STRRUCTURAL LAYOUT

SCALR E: /4" = 120" ADIRESS:
Doors & Windows |21.8 |-29.1 SW FLih Lane
Worst Case | Lake City FL 32024
(Zone 5, 10 i2)
8x7 Garage Door J1EJ.5 -22.9
16x7 Garage Door | 18.5 |-21.0 Mark Disssway P.E.
P.O. Box 868
i Lake City, Forida 32056
— Phone: (38€) 754 - 5419
Fax: (386)269 - 4871
DESIGN LOADS )
PRINTH DATE:
FLOOR 40 PSF (ALL OTHER DWELLING ROOMS) ] Septemtzr 04, 2008
30 PSF (SLEEPING ROOMS) DRAWNBY: | STRUGTURAL BY:
30 PSF {ATTlCS WITH STORAGE] Evan Beamsley David Disosway
| 10 PSF (ATTICS WITHOUT STORAGE, <3:12) i
ROOF 20 PSF (FLAT OR <4:12)
. 16 PSF (4:12 TO <12:12) B FINALS DATE:
12 PSF (12:12 AND GREATER) = Sept. 4, 2008
STAIRS 40 PSF (ONE & TWO FAMILY DWELLINGS) il i JOB NUMBER:
SOIL BEARING CAPACITY 1000PSF 80¢04 1
NOT IN FLOOD ZONE (BUILDER TO VERIFY) DRAWINCNUMBER

S-1

OF 1 HEET

-
i




	001
	002
	003
	004

